Algebra2 8.5 “Alg 1 Ch. 3
Recognize and solve direct* and joint variation problems
Recognize and solve |nver§/e and combined variation

problems
direct variation } k' x 1 \l’ \1'
inverse variation U = LS l, \ 1\
joint (combined) variation X

anstant of variation ) kX n

%:K-x-z 2



%" KeyConcept Direct Variation

Words yvaries directly as x if there is some nonzero constant k such
that y = kx. kis called the constant of variation.
Example If y=3xand x =7, then y = 3(7) or 21.
9 £
8 If
8 HH Number of eyeballs
54 A—{e=15n]
m Number of toes
P Number of ears
0

123456789h

Height Number of noses




ﬁf y varies directly as x}ami y =15 whenx = —5} find y when x = 7.
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5 1. Find the COV
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5" KeyConcept Joint Variation

\

1 word . i there ———

Example Ify= ?\xz X=6,and z= —2, then y = 5(6)(—2) or —60.

kxz.
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Still only one constant

b= K%z




Supylose y varies jointly as x and z| Find y when x =9 and z = 2)if y = 20 when
z=3and x =5, L

o @’(‘ T 1. Find the COV

2. Write the eq
Q\DZR 53 e 3. Answer the question
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2. Suppose r varies jointly as v and t. Find r whenv =2 and t = 8, if r = 70
whenv=10and t = 4.

r-"' k‘V‘t r-_ .:I_'I/“E
_ ¢ 1. Find the COV
70~—l\’"i;% (=L ., 2. Write the eq
§Z 4 < 3. Answer the question
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" KeyConcept Inverse Variation

Words yvaries inversely as x if there is some nonzero constant k such thiit
y=i;, where x # 0 and y # 0.
Example -
3 _ K
EEER X _
w=56 It Speed & time
=L L Leftovers & diners
;g% 298 8x Workers & time
A




If a varies inversely as b an¢’a = 28 when b = —2)ind a when b = —10.

-k 2 8- )
L A= =St 1. Find the COV
R 2. Wirite the eq
3 Y=< _[f_ g 3. Answer the question
o - G~ ﬁ_?_f’_. = 'g 6
Ki-S¢ =10



GuidedPractice

3. If x varies inversely as y and x = 24 whefn y =4, find x when y = 12.



Still only gne-eenstan

Example 5

Suppos ies di ies inversely as /. Find g when f =18 and
h=-3]ifg=24 whenh=2and f=6.

J::k.gq’ (6.21‘4:2) 1. Find the COV
h

2. Write the eq
3. Answer the question
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